Calcul Mental
(Serie de 20 calculs)



48 + 99 =



54 + 101 =



247 - 98 =



257 - 101 =



600 x 8 =



70 X 8 =



3 x 109 =



5 x99 =



Le double du tiers de 12 ?



10

La moitie du triple de 8 ?



98 + 75 + 2 + 25 =



98-3+2+103 =



50 x 8 x 2 =



320 : 40 =



300-75- ? =200



8x ? =560



17

35m= ? cm






2 74







Correction



48 + 99 =



54 + 101 =



247 - 98 =



257 - 101 =



600 x 8 =



70 X 8 =



3 x 109 =



5 x99 =



Le double du tiers de 12 ?



10

La moitie du triple de 8 ?



98 + 75 + 2 + 25 =



98-3+2+ 103 =



50 x 8 x 2 =



320 : 40 =



300 - 75 - = 200



8 X = 560



35 m = cm






2 74







